Kvissleby BK

Partavling 2022-05-11

Partavling, 6 bord, 11 par.

Antal brickor: 33. Medel: 132.0. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb

1 3 168.3 63.75 Evy Waglof - Axel Berglund 62468 33895 Kvissleby BK

2 7 151.8 57.50 Olle Eriksson - Erling Lidin 54372 54383 Kvissleby BK

3 1 145.2 55.00 Per-Anders Sjogren - Bengt-Olof Séderlund 10757 52985 Gnarps BK

4 9 136.4 51.67 Gudrun Lundberg - Torgny Lundberg 62465 62466 Kvissleby BK

5 10 135.3 51.25 Gudrun Jansson - Soren Sorlén 62464 28275 Kvissleby BK

6 4 128.7 48.75 Barbro Sj0 - Kerstin Pettersson 62558 79469 Kvissleby BK

7 8 127.6  48.33 Inger Ulriksson - Lennart Berglund 67629 43837 SPF seniorerna Nivrén - Kvissleby BK

8 11 126.5 47.92 Birgitta Wimmercranz - Christer Svanstrom 62563 62561 Kvissleby BK

9 2 124.3 47.08 Hans-Arne Frelin - Ingemar Johansson 12464 800  Gnarps BK

10 5 107.8  40.83 Erik Sundqvist - Johan Arborelius 62467 62460 Kvissleby BK

11 6 100.1 37.92 Asa Wallner - Maud Aberg Ohlén 28054 42602 Kvissleby BK - Solvesborgs BK
1 Nord Ingen 2 Ost NS 3 Syd OV

Par Kontr Ut Res Poéng Par Kontr Ut Res  Poéng Par Kontr Ut Res  Poéng

5 7 5640-1 &4 50 80 00| 6 3 4a4V-2 v2 100 8.0 00| 4 11 4vyRDO-3 &A 1600 8.0 0.0

2 8 44 0= &4 420 6.0 20| 4 11 44 V-1 v9 50 6.0 20| 2 8 5¢ N-1 vA -50 6.0 2.0

6 3 44 0O+1 v2 -450 3.0 50| 2 8 4v S-1 43 -100 4.0 40| 5 7 3vO= +8 -140 4.0 4.0
10 9 4e V+1 &A -450 3.0 50| 5 7 34 V+l v9 -170 1.0 7.0|/10 9 4v O= ¢*4 -620 2.0 6.0

4 11 44 O+2 +J -480 0.0 8.0|10 9 34 V+1 +K -170 1.0 70| 6 3 44 V+1l ¢ A -650 0.0 8.0

-1 44( - 1 44 - 1 4.4
4 Vvast Alla 5 Nord NS 6 Ost OV

Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang

6 8 Pass 80 00| 3 9 4aV= v8 420 7.0 10| 7 4 34V-3 +Q 300 8.0 0.0

7 4 INV= v6 90 6.0 20| 7 4 4e V= &2 -420 7.0 1.0|11 10 24 S-1 + K -50 6.0 2.0

3 9 INV+1 v3 -120 3.0 50| 5 1 44 V+1 *2 -450 2.0 6.0 3 9 2vy N-2 &2 -100 4.0 4.0
11 10 INV+1 v3 -120 3.0 50| 6 8 44 V+1l +3 450 2.0 60| 5 1 3&V+1 *7 -130 2.0 6.0

5 1 3yDN-2 ¢+ 4 -500 0.0 8.0|11 10 44 V+1 +6 -450 2.0 6.0 6 8 44V+l a2 -150 0.0 8.0

- 2 38| - 2 38| - 2 3.8
7 Syd Alla 8 Vast Ingen 9 Nord OV

Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang

8 5 24DV-1 +3 200 80 00| 8 5 6#V-1 ¢ A 50 80 00| 1 11 44 N-1 + K -50 8.0 0.0

6 2 24V-= v5 -110 6.0 2.0| 4 10 5¢ S-2 &A -100 6.0 20| 8 5 44S-2 ¢ A -100 6.0 2.0

4 10 24 V+1 &A -140 3.0 50| 6 2 34V+3 ¢ A -170 4.0 40| 4 10 2¢ O+2 SA -130 4.0 4.0

7 9 24 V+1 +6 -140 3.0 50| 1 11 5V= ¢ A 400 1.0 7.0 7 9 3¢ O+2 +J -150 2.0 6.0

1 11 3¢ N-2 4 A -200 0.0 80| 7 9 54V= vQ -400 1.0 70| 6 2 2v O+2 a A -170 0.0 8.0

- 3 51| - 3 51| - 3 5.1
10 Ost Alla 11 Syd Ingen 12 vast NS

Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang

2 1 4e4V-1 &5 100 8.0 00| 9 6 24 N+1 *A 140 80 00| 9 6 3NN= &3 600 8.0 0.0

5 11 24 V+1 &A -140 50 30| 2 1 4¢0-2 45 100 50 3.0| 5 11 2NN= &3 120 6.0 2.0

8 10 24 V+1 &A -140 5.0 3.0| 5 11 4¢ V-2 4 A 100 50 30| 7 3 2¢ N= &6 90 4.0 4.0

9 6 2NO+1 2 -150 2.0 60| 7 3 2NV-1 4 A 50 20 6.0 2 1 3NN-1 &3 -100 1.0 7.0

7 3 24 V+2 *T -170 0.0 8.0| 8 10 44 N-3 +9 -150 0.0 8.0| 8 10 2¢ N-1 49 -100 1.0 7.0

- 4 39| - 4 39| - 4 3.9
13 Nord Alla 14 Ost Ingen 15 Syd NS

Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poéang

3 2 140+2 ¢ A -140 8.0 0.0| 9 11 14 N+1 *4 110 80 00| 3 2 4v 0= *A -420 6.0 2.0

8 4 3vV+l 6 -170 6.0 20| 3 2 34 N-1 *6 50 4.0 40| 6 1 4v 0= *A -420 6.0 2.0

6 1 4v V= s A -620 2.0 6.0| 8 4 24 N-1 *6 50 4.0 40| 9 11 4vO= ¢2 -420 6.0 2.0

9 11 4y V= 4 A -620 2.0 6.0|/10 7 24 N-1 v5 50 4.0 40(10 7 44 V+1 ¢ A -450 2.0 6.0
10 7 4v V= v2 620 2.0 6.0| 6 1 2v0O= &A -110 0.0 80| 8 4 4v O+2 2 -480 0.0 8.0

- 5 33| - 5 33| - 5 3.3
16 Vast OV 17 Nord Ingen 18 Ost NS

Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
11 8 4v S+1 v2 450 80 00| 7 2 4v0-2 ¢+ Q 100 70 10|11 8 5¢ N+1 &3 620 8.0 0.0

4 3 4v S= +Q 420 40 40|10 1 4v0O-2 +Q 100 70 10| 7 2 54DO-3 vA 500 5.0 3.0

7 2 4v S= +Q 420 40 40|11 8 3aV-1 ¢ A 50 40 40|10 1 54DV-3 &K 500 5.0 3.0
10 1 4vS= +Q 420 40 40| 4 3 26 V= ¢ A -110 1.0 7.0 9 5 3¢ N+2 &3 150 2.0 6.0

9 5 3v S+l aT 170 0.0 80| 9 5 24V= ¢ A -110 1.0 7.0| 4 3 5¢S-1 SA -100 0.0 8.0

- 6 30| - 6 30| - 6 3.0
19 Syd OV 20 Vast Alla 21 Nord NS

Par Kontr Ut Res  Poéng Par Kontr Ut Res  Poéng Par Kontr Ut Res  Poéng

1 9 3NS+3 ¢ A 490 80 0011 2 2NO-2 v5 200 80 00| 5 4 2v S+l *T 140 7.0 1.0
10 6 3NS+1 +3 430 6.0 20| 8 3 INO-1 v4 100 50 3.0|10 6 3vS= 48 140 7.0 1.0

8 3 2y N+2 a7 170 40 40|10 6 INO-1 v5 100 50 3.0|11 2 Pass 4.0 4.0

5 4 5vN-1 &J 50 1.0 70| 5 4 INO= v5 90 2.0 60| 1 9 4vS-2 &4 -200 1.0 7.0
11 2 44 S-1 v2 50 1.0 70 1 9 34S- a4 -200 0.0 80| 8 3 1¢ N-2 &5 -200 1.0 7.0

-7 46( - 7 46( - 7 4.6
22 Ost OV 23 Syd Alla 24 Vst Ingen

Par Kontr Ut Res Poéng Par Kontr Ut Res  Poéng Par Kontr Ut Res  Poéng

9 4 3NS+2 vT 460 80 00| 6 5 44DN= v] 790 80 00| 1 3 2v N+2 +6 170 8.0 0.0

6 5 3NS+1 *6 430 6.0 20| 2 10 34 N+2 vJ 200 60 20| 9 4 340-2 v3 100 6.0 2.0

1 3 44 N-= v9 420 3.0 50| 1 3 34S+1 v2 170 40 40| 2 10 14 N= v8 80 40 4.0

2 10 44 S= *Q 420 30 50|11 7 4v V-1 4 A 100 20 60| 6 5 240= a2 -90 2.0 6.0
11 7 2v V-1 48 100 00 80| 9 4 44DN-1 vK -200 0.0 80|11 7 3sV= +9 -110 0.0 8.0

- 8 39| - 8 39| - 8 3.9
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25 Nord OV 26 Ost Alla 27 Syd Ingen
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
7 6 3NDV-3 &A 800 80 00|10 5 14 0-2 &3 200 80 00|10 5 2NV-2 &3 100 8.0 0.0
1 8 3vDO-2 ¢ A 500 6.0 20| 1 8 3#S= a2 110 50 30| 1 8 Pass 3.0 5.0
3 11 4v0O0-2 vT 200 40 40| 3 11 34 S= a2 110 50 3.0| 2 4 Pass 3.0 5.0
2 4 2¢ V= &A 90 2.0 60| 7 6 140-1 &2 100 20 6.0| 3 11 Pass 3.0 50
10 5 3NV= v2 -600 0.0 80| 2 4 14 O+l &3 -110 0.0 80| 7 6 Pass 3.0 5.0
-9 41| - 9 41| - 9 4.1
28 Vast NS 29 Nord Alla 30 Ost Ingen
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poang
2 9 3¢ 0+1 L Jo) -130 7.0 10| 3 5 56 0-1 4 A 100 80 00|11 6 4vy N= ¢+ K 420 8.0 0.0
11 6 2¢ O+2 v9 -130 7.0 10| 8 7 3¢ O+1 »2 -130 6.0 20| 3 5 3vS+1 a4 170 6.0 2.0
3 5 50 0+1 *Q 420 4.0 40| 2 9 2NV +1 *6 -150 4.0 40| 4 1 2NN= ¢+ K 120 40 4.0
4 1 3NO+1 a2 -430 1.0 70| 4 1 3NV= &J -600 1.0 7.0 2 9 4vy N-1 ¢+ K -50 1.0 7.0
8 7 3NO+1 a2 430 1.0 70|11 6 3NV= &3 -600 1.0 7.0| 8 7 INN-1 ¢J -50 1.0 7.0
- 10 41| - 10 41( - 10 4.1
31 Syd NS 32 Vast OV 33 Nord Ingen
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poéang
3 10 6NS+1 vQ 1470 80 00| 4 6 3¢ S= v7 110 8.0 0.0| 3 10 44 O0-3 T 150 8.0 0.0
4 6 6NN= +5 1440 60 20| 1 7 140-1 *A 100 50 30| 1 7 34DO-1 v4 100 5.0 3.0
1 7 6 N+1 a4 1390 30 50| 5 2 24V-1 +J 100 50 30| 4 6 44 0-2 &2 100 5.0 3.0
5 2 6&4N+1 a4 1390 3.0 50| 3 10 2¢ S= vT 90 20 60| 5 2 3NO-1 v3 50 20 6.0
9 8 3NS+4 va 720 00 80| 9 8 INO= ¢ A 90 0.0 80| 9 8 2NO= 2 -120 0.0 8.0
- 11 38| - 11 38| - 11 3.8
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